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BEAE:  HFRUFTAHR BMAR : TAN (BYE:TAN - KHE:ON)
HDCPERR : 5314 :36.4 - &Mt :40.4 HTHHYITH: FT)L/— (PAR x 2)
RLA—L: 0T D@@E®Q® IN @OHBBE®® (1/2
RIBGLRE : O—NTT 4 - FHh Efl - %0 65 5A248 (%)
JIE iz ZmEA ouT IN GROSS HDCP NET k=
B B ik XA 46 44 90 | 18.0 | 72.0 |AE
EEH EN £X 46 42 88 | 15.6 | 712.4 A&
3 i B fiE 43 51 94 | 21.6 | 712.4 (A&
4 1| /INR 40 35 15 2.4 | 72.6 |BG AE
5 fi |Bafiz EH 39 41 80 1.2 | 712.8 |A&E
6 i BHM FIT 43 43 86 | 13.2 | 712.8 |AE
1 o ok 2NFE 45 47 92 | 19.2 | 72.8 |A#E
8 i AH ’ﬂ&% 39 40 19 6.0  73.0 |AE
9 i | ARE EBEF 90 40 90 | 16.8 | 73.2 |A#E
10 i | Fik 8Ua 41 44 85 10.8 | 74.2 |A&
16| R —X 42 43 86 | 10.8 | 74.2
12 I |58 FFif 41 40 81 6.0 | 75.0
13 i tTH & 44 43 87 | 12.0 | 75.0
14 i | 8RE IEEA 48 38 86 | 10.8 | 75.2
15 61 [ /MR 2 — 45 41 86 | 10.8 | 75.2
16 fu | EBE 1ERBs 41 38 19 3.6 | 75.4
17 1 B 8% 47 44 91 15.6 | 75.4
18 i | Fik FX 48 43 91 15.6 | 75.4
19 I | R B 50 41 97 | 21.6 | 75.4
20 1 BH E= 40 44 84 8.4 | 15.6 |RUE
21 i | B& a5 48 42 90 | 14.4 | 75.6
22 i |#H F5H 50 46 96 | 20.4 | 75.6
23 o | hF =5 42 40 82 6.0 | 76.0
24 4 AL BEE 43 45 88 | 12.0 | 76.0
25 fii |HITE &5 49 45 94 | 18.0 | 76.0
26 £ |42 EH 49 44 93 | 16.8 | 76.2
27 fi1 | ¥ #A 45 48 93 | 16.8 | 76.2
28 fiI |fLil EsE 49 50 99 | 22.8 | 76.2
29 i /M1 FH 40 39 19 2.4 | 16.6
30 i —=2z# T 45 46 91 14.4 | 716.6 |RUE
31 i |BRIR E— 50 46 96 | 19.2 | 76.8
32 i |AWL E— 51 50 101 24.0 | 77.0
33 4 5H FHE 45 49 94 | 16.8 | 717.2
34 i | EE R 40 41 81 3.6 | 717.4
35 i |[$hl R 41 40 81 3.6 | 717.4
36 {i [IEH 58 93 45 98 | 20.4 | 77.6
37 i |h% EEAN 48 49 97 | 19.2 | 77.8
38 i HH FH 57 52 109 | 31.2 | 77.8
39 £ | FEER 15 48 48 96 | 18.0 | 78.0
40 5 | B8 B 53 49 102 | 24.0 | 78.0 |®RUE
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BmEAE: FRUTAR SmA% TAN (BtE: 74N - &t O0N)
HDCPERR : 5314 :36.4 - &Mt :40.4 HTHHYITH: FT)L/— (PAR x 2)
RLA—L: 0T D@@E®Q® IN @OHBBE®® 2/ 2
RIBGLRE : O—NTT 4 - FHh Efl - %0 65 5A248 (%)
JIE iz ZmEA ouT IN GROSS HDCP NET k=
N | RHF FE 50 45 95 | 16.8 | 78.2
42 1 | MNEF AR 51 50 101 22.8 | 18.2 |HAHE
43 A Xt§ 49 45 94 | 15.6 | 78.4
44 4 AL 5= 46 48 94 | 15.6 | 78.4
45 4 | 2 93 47 100 | 21.6 | 78.4
46 L | AE X o1 48 99 | 20.4 | 78.6
47 1 /MRS FIFE 90 49 99 | 20.4 | 78.6
48 i | &8 BE 93 92 105 | 26.4 | 78.6
49 1 | &R B 90 95 105 | 26.4 | 78.6
5 iz AAE = 98 o] 115 | 36.4 | 718.6 |RUE
51 fiI oK E= 46 46 92 | 13.2 | 78.8
52 fu |l BREE 48 43 91 12.0 | 79.0
53 fu =ik #BY 49 48 97 | 18.0 | 79.0
54 4 RH ER 53 o4 107 | 27.6 | 79.4
5 fu |ZR K= 61 52 113 | 33.6 | 79.4
56 i |/MFR 52 52 104 | 24.0 | 80.0
57 fu H#¥ HF 47 42 89 8.4 | 80.6
58 fu T H = 96 o1 107 | 26.4 | 80.6
59 fu |[lu/E FBFE 93 46 99 | 18.0 | 81.0
60 fi =ik 7l 52 53 105 | 24.0 | 81.0 |mRUE
61 iz EiE REH 56 55 111 30.0 | 81.0
62 i HE HE 58 45 103 | 21.6 | 81.4
63 fir ek B 61 54 115 | 33.6 | 81.4
64 i FH R 49 46 96 | 13.2 | 81.8
65 fu =iFE R 49 51 100 | 18.0 | 82.0
66 fi |fRLE #KER 56 95 111 28.8 | 82.2
67 fir /Mt BE 60 56 116 | 33.6 | 82.4
68 fiI | X% Eih 61 58 119 | 36.0 | 83.0
69 £ | ZHE RIE 63 54 117 | 32.4 | 84.6
70 fi [ga K = 59 62 121 36.4 | 84.6 |RUE
N fu ®KE Fi& 52 58 110 | 25.2 | 84.8
12 1 98 & 58 49 107 | 21.6 | 85.4
13 2 /vt F0 61 65 126 | 36.4 | 89.6 |[BBE
14 {2 |FAH —BA 69 58 127 | 36.4 | 90.6 |BME




